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141
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1,001
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143
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39
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2,000
312
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203
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13
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3.95
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3.26
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3.45
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2.13
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1.10
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1.03
0.86
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9
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493
50.8

123
155
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90.83 1411
103.25 11.94

98.49 14.79
96.12 13.98

88.84 12.89
107.27 10.35
96.58 14.26

99.03 12.39
98.42 13.23
97.49 1438
94.81 16.50

9747 1411
97.77 14.36
116.60- 12.73
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57
247
14
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1,000

765
8.0
2.3

143
618
39
128
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97.60 14.44
95.06 14.38
10267 12.90

10347 1399
95.33 13.73
106.29 1081
98.43 1542
99.27 16.32

92.13 1555

102.67
106.29
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30.00-102.00
102.01 -150.00

97.29

i 1442

47.00

« 134,00

249 62.3

151

249
151
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62.3
317

317



(=400)

82
318

189
A1

367

315

205
195

47.3
5.7

918
8.2

212
88

54



66.8

8.2
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(N=400)
13
267

237
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88
408

332
66.8

59.3
408

2.1
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15
165
213
42

435

23

152

108

30

313

19
24

56

345
31.93
48.97

9.65

100.00

1.35
48.56
34.50

9.58

100.00
2.08
39.58
50.00
8.34
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205

26

412

11
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82
47
ol
41
29
512

103
108
40
ol
56
59
417

57

291
41.02
49.76

6.31
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29.30
16.02
9.18
9.96
801
5.66
100.00

24.10
2590
9.9
1223
1343
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49.76

29.30 2590
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35.11

33.18
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48.97 50.00
48.56

197 2998
218 3318
235 317
! 107
155 39.64
151 38.62
60 1535
18 4,60
! 179
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10 39.64

38.62 15.35
4.60
1 6
212 24.54
(vickeo) 207 23.96
144 16.66
i 19.79
(Intermet) 123 14.24
( ) 1 081
864 100.00
o7 21.95
13 16.52
| 214 54.52
( ) 3 101
415 100.00
1
24.54 23.96

19.79 1666 1424
54.52
21.96
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12
35.37

2146

47
%
157
168

475

129
47
26

219

33.05 '
58.90

60

9.90
2021
33.05
35.37

147

100.00

2.13
58.90
2146
1187

5.02

100.00



p< .05

13

96
55
151

50
101
151

150
151

90
61
151

79
72
151

29
122
151

63.58
36.42
100.00

33.11
66.89
100.00

99.34
100.00

59.60
40.40
100.00

52.32
47.68
100.00

19.20
80.80
100.00

222
27
249

161
88
249

32
217
249

225
24
249

188
61
249

134
115
249

89.16
10.84
100.00

64.66
35.34
100.00

12.85
§7.15
100.00

90.36
9.64
100.00

75.50
24.50
100.00

53.82
46.18
100.00

P-value
(Phi)

.000°*

(.307)

000*
(.306)

000*
(:215)

000+
(.364)

000+
(:239)

000
(:341)
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0.66
52.32

64.66
90.36
53.82

63.58

05

59.60
19.20

12.85
1550

311

89.16
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3 & * ?
B SEB BETA T T sig.

-9.493 1.522 -.329 -6.235 .000

5.524 1.970 139 2.804 .005

(constant) 96.274 5.269 18.271 .000

R =.499 R2=.249 Adj. R2= .218 F=7.934 Signif F = .000

< 05

14
"R = 490

R= 249 2490

= 05.274- 9493 ( ) +5524 )

309( )+ 139 )

6
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32
15
B SG BB %%l for Bp@
Lower Upper
-.648 .019 523 304 899
(1)
(0)
-.956 007 384 192 170
(1)
(0)
Constant 9.308 525 11023.962
-2 Log Likelihood = 346.613
Model Chi-square = 59.192
R Square = .216
Overall Percentage = 81.0
p< .05
15 !
( Dummy Variable 6 )
(Multiple Logistic Regression
Analysis)

S08- 68 ( " )- 9%
( )

-2 Log Likelihood = 346.613
2



Model Chi-square = 59.192 (p< .05) R = 216
216 Overall Percentage = 81.0
810 2
6
523 6
(9 %c.. for BExp. (B) = .304,.899)
6
384

(95 %Cl. for Bp. (B) = .192,770)

65



16

B SIG Exp.(B) 95 % c.l. for Exp.(B)
Lower Upper

-701 022 496 321 768
(1)
(0)
1.113 007 3.042 1.346  6.876
(1)
(0)
-1.013 001 363 202 .655

1001 -2000 (1)
( 1001-2000) (0)

(1) -1.595 030 203 048 .860
( ) (0)
(1) -2.199 018 A11 018 681
( ) (0)
(1) -2.017 007 133 031 579
( ) (0)
-2.065 023 127 022 748
( ) (W)
( ) (0)
Constant 2.447 015 11.559

-2 Log Likelihood = 482.434
Model Chi-square = 70.873
R Square = .217

Overall Percentage = 69.3

p< .05



67

16 1
Dummy Variable 6 )
(Multiple Logistic Regression Analysis)

= 2447 - T0L )+ 1113 (
) -L013 ) -1.595 (
C1 ) 2199 |
) 2017 ) 2,065
( )

-2 Log Likelihood = 482.434
7
Model

Chi-square = 70.873 (p< .05) R2 217

217

Overall Percentage = 69.3

Exp. ()= 312,768)

(9% % CI. for

6
3042 6
(95% Cl. for Exp. ( ) - 1.346,6.876)

6 2,000



2,000

6
018,.681)

b
031,579

)
b
CJ. for Exp. (B) = 022,748)

68

6 1,001-

(95 %c.l. for Exp. (B) =.202,655)

6 (
20
(95 % C.. for Exp. (B) - .048,.860)

° (
111
(95 % C.I. for Exp. (B) =

6 ! (
133
(95 % CI. for Exp. (B) =

17
) (95 %



p< .05

17

1.206

-1.264

-1.582

(" o
Constant -9.151
-2 Log Likelihood = 188.883
Model Chi-square = 38.984
R Square = .214

Overall Percentage = 91.5

17
Dummy Variable

SG

.018

037

.035

-.805

Exp.(8)

3.340

282

205

.000

16

95 % c.l. for Exp.(B)
Lower Upper

1

)

232 9.052
.086 924
.049 .860

(Multiple Logistic Regression Analysis)

9151 + 1.206(

- 1582 (

, -2 Log Likelihood = 188.883

3

)

)-1.264 (

)

69

Model
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Chi-square = 38.984 (p< .05) R2 = 214
214
Overall Percentage = 915
915 3
6 3.340
6 (95 % c.l. for Exp. (B) =
1.232,9.052)
0
282 0 (9 %
C.l. for Exp. (B) = .086,.924)
0
205 0

(959%CJ. for Exp. (B) = 049, .860)



1.977

-.659

Constant 199
-2 Log Likelihood =318.206
Model Chi-square =95.594
R Square = .330

Overall Percentage = 83.5

p< .05

18

( Dummy Variable

Regression Analysis)

G

.000

022

916

Exp.(B)

7.219

517

1.127

16

)

' -2 Log Likelihood = 318.2Q6

2

Model Chi-square = 95.594 (p< .05)

R2 = 330

n

9 %c.l. for Exp.(B)
Lower Upper

3.284  15.868

294 910

)
(Multiple - Logistic

=199+ 1977 ( )- 859 |



12

33.0 Overall Percentage = 835
835 2

7219 1 6 (% %
0.1 for Exp. (8) = 3.284,15.868)

517 6
(95 % C. for Exp. (B) = 294,910)
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B
-174
(1)
(0)
911
(1)
(0)
-.681
(1)
0
Constant 1.285

-2 Log Likelihood = 463.114
Model Chi-square = 45.634
R Square = .150

Overall Percentage = 70.8

p< .05
19
( Dummy Variable
Regression Analysis)

s16 Exp.(B)
001 461
039 2.486
040 506
177 3.614
16
=1.285-.774

(

-2 Log Likelihood = 463.114

73

95%c.1. for Exp.(B)
Lower Upper

294 124
1.048 5.898
264 968

(Multiple - Logistic

)+ .91

) -68L ( )
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Model Chi-square = 45.634 (p< .09)1 R2 = 150

150 Overall Percentage = 70.8
108 3

6 1
4L 6
(95 %c.l. for Exp. (B) = .294,724)

6
2486 b
(95%CJ. for Exp. (B) = 1.048,5.899)

6
506
(95%C.l. for Exp. (B) = 264,968)



20

1,001-2,000°

Constant

1.058

-1.027

893

-913

(1)
( 1,001-2,000) (0)
1.569

-2 Log Likelihood = 438.042

Model Chi-square = 102.707

R Square = .306

Overall Percentage = 71.8

p< .05
20
( Dummy Variable
Analysis)

+.893 (

75

SIG Exp.(B) 95 %c.l. for Exp.(B)
Lower Upper
.000 2.382 1.695 4.899
000 .358 223 575
023 2.442 1.133 5.265
.004 401 217 743
.098 4.803
1
6 )
(Multiple Logistic Regression
= 1569 +1.058 ( )- 1.027 ( )

)-913( )



-2 Log Likelinood = 438.042
4

Model Chi-square = 102.707 (p< .09) R2 = .306

30.6 Overall Percentage = 71.8
18 4

6
2882 6
(95% Cl. for Exp. (B) = 1.695,4.8%9)

358 6
(95 %C. for Exp. (B) = .223-575)

6
244 6
(95% .. for Exp. (B) = 1.1335.265)

6 2,000
a b
1,001-2,000 (95 %Cl. for Bxp. (B) = .217,743)
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